The Creative Problem Solving
Process

How can we problem solve most effectively?




Basadur Profile Types

Implementing

. . Generatin
Getting things done Problem g

Finding Getting things started,
finding new problems
and opportunities

Fact
Finding
Problem
Definition
Optimizing Conceptualizing
Turning abstract S Vi Defining problems and
ideas into practical & Seloct Finding putting ideas together

solutions and plans

» The most efficient teams have at least one of each type.



The Innovation Cycle

Full
Implementation

Create Prototype
Products

Identify Valuable
& Viable Ideas




Group Questions for Innovation at C&T

I. What are some pain points in your workday?

|

2. Which one of those pain points do you all experience
or can agree is the most impacting?

|

3. Are there any trainings or office changes we can do to
avoid or “heal” those pain points!?



Why is understanding innovation important?

» We work with businesses and inventions!

By understanding the importance of innovation, we learn that we must
start with the problem in order to find the best solution.

It is very tempting to start with a solution, but there is nothing worse
than coming up with a solution that has no audience, market, or need.

How many times have we come across an invention that we want to side-
eye...

» We are a business!

By understanding innovation, we can provide the best service by solving
the clients’ problems most effectively.

» You want to live a productive life!

Stop wasting your time on things that are not addressing the real
problems in your life.



Part One: Identify the Problem

I. What are some pain points in your workday?

Dread getting to

Don’t understand fully but do anyway
Time Wasted

Slow down productivity

Overall induce negative emotions

Time to DIVERGE, not CONVERGE. - why?

For the Generators/Conceptualizers
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Part Two: Narrow the Problem

» Which one of those pain points do you all experience or
can agree is the most impacting!?

Are some of these point replicates of other?
Does one have a greater impact than another?

Is a preliminary step to other big changes!?

Now is time to CONVERGE.

For the Optimizers/Implementers
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Part Three: Reframe the Problems

» We often get trapped into a single thought while
identifying a problem based on “how we have always done
things”

» By reframing the problem, we could see the pain point in
a hew prospective.

» This is best done through turning the pain point into a
question(s).

“How MightWe ...?”

For the Generators/Conceptualizers



Part Four: Identify Solutions/Heal Pain Points

» Answer the “How Might We...?” questions with solutions.
Time to DIVERGE.

For the Generators/Conceptualizers

» Once you’ve exhausted your brain, you can then go back to
step two, which is narrowing the solution.

Time to CONVERGE.

For the Optimizers/Implementers
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In Summary...

» An effective problem to solution cycle is:

|dentify the Problem

Narrow the Problem

Reframe the Problem

|dentify Solutions (nd narrow solutions)

In theory, you can identify/narrow/reframe an infinite amount of times
to get the peak solution, but who has time for that.
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